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3a.
b.
C,

il a.

b.
c.

lVloclu lc-2
Erplain clitfcrent lcaclership styles rvitlr their nrcrits anci denrerits.

Di scLrss tlre ch aractct'i st ic s and ittlportatlcc o f coorcl irtation.

Discuss I lcrtzberg's tu'o thctors thcory.

oR
Explain ntotivatiol.r. DiscLrss Maslorr,'s ncccl hierarclty thcory o{'tlotir atiotl .

Explain controlling and (lisctrss lhe stcps in colttrollirrg.

E.rpl ain the i Inpofiance of co nltl.lttnicatiotl.

18CSsl

(()ll )lrrlis)
(06 \lrrrks)
(0(r llarlis)

(06 \larlis)
(06 NIarl<s)

({)ll llerks)
(()(r \larks)
({}(r }lurlis)

(()8 )larks)
(06 llarks)
(06 \lr,rrks)

(l{} \l:rlkr)
(l{) )larlts)

(10 NIarks)

anci list thc
(l() ll'rrks)

N'l tltlu le-3
5 a. Discr-rss thc di[l'crcnt lypcs o1'ctttrcprcllctlrs rn clctail.

b. lrxplarn financial ancl tccllrlical I-casibility' study.

OR
6 a. Explain the stages olctltreprenetlrial proce ss in dctarl.

b. Discuss the rolc o[-cntl'c.prcneurs iu the cconot.t-tic devcloptllcnt ol'thc coLlnlrv

barricrs to cntrcprcncurshiP.

b.

C.

8a.
b.

C.

GB.G.$ $(8HIEIWE.

Fifth Semester B.E. Degree Examination, June/July 2A24

Management and Entrepreneurship for lT lndustry

Tirle: 3 hrs. N.'litx. \'larl<s: 1 0()

Notc: Arrsx'er un). FIl.tt ffutt questions, c'ltoosirrl4 OX'f:.ffull questiorr.t'iom aacll tt,odulc.

NIodu Ic- L
I a. Ilxltlairr llanagclt'Ient ancl (iiscr.lss the littrctiottill arcas ot'lrrallagcmcllt.

b. Explain the stcps involvccl in plirnlling.

c. L)iscuss the statf selection process in clctail

OR
Z zr. Bring out the uature of nanagentcnt and cliscttss thc various roles ola nlallascr- (()ll NIarks)

b. 1-ist thc typcs of'organrzations anci expiitin any trvo highlightillg its aclvatltagcs arltl

disadvan tagcs.

c. Compare altd contrast stratcgic etncl tactical plannirrg.

\{otlule-'1
Itxplatn tlre signilicancc olpro.ject rc;lot1 antl lisl dou'n the plarlning corlltnission gr-riclclines

fbl project rcporl preparrltioll . (08 ll:trlis)

lllr-rstrate the lupctionul areas of'opcration o1'nrattagctle nt N''larketinu atlcl slties stld strppll'

chain rrarragcmenl. ((Xr llrtrks)

Write a note on pro.lcct rclentificatiorr u'ith sourccs. (0(r l\larlis)

oR
Discuss the variorts cotrtcttts clf pro.iect rcpoll (()tt Nlarlis)

ill,strate the fuucti6lai areirs ol olteration of uranagcrlctrt Accr utrtittg atrci llrlarlcc ancl

human resollrccs. (0(r Nlarks)

Writc a notc oll proiect se lcctiou. ({)(r }larks)

I ril'2



Mndule-5
9 a. l)rscLrss the steps involvecl in establishirrg micro ancl snrallcntcrlrl'i5q'

b. L)iscr-rss thc casc stirdy ol-Lrlosys (N I{ Naral'lrna MLrrthy).
c. [:rplairr thc ol-rjcctives ant] lirnclions plovir-ied br SiDIli lind KL\DIl

OR
I0 il. t:rplain the o[-r.jcclivcs ancl llrnctitins proviclccl by

(i) KSF'C (ii) DtCl (iii) TECSOC (iv) I(SSIDC
lr. Discr"rss lhc casc stucll,o1'Ail Dcccan (C-aptain (i. R. (iopinath).
c. Lrrplain Trademalk, Copy Rights and PaLcnts.

x>k***

l8cs51

(()lJ Nlarks)
(06 NIarks)

(06 NIarks)

(08 Marks)
(06 Marks)
(06 Marks)

2 o1'l
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(05 Marks)
(05 Marks)
(10 Marks)

(10 Marks)

(07 Marks)
(05 Marks)
(08 Marks)

Fifth Semester R.E. Degree Examination, June/July 2024

Gomputer Networks and SecuritY

'fime: 3 l-rrs. Max" Marks: 100

Note: Answer (uty FIVE.futt rluestions, clrrtosilg Ot\E fult question .fi'om each module'

I

Fig.Q5(b)
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a. Explain mail transfcr fiom scn'Jcr to receivcr using SMTP protocol' (10 Marks)

b" fxplain DNS Records anci Messages in detail' (10 Marks)

Module-2
3a'Withaneatdiagranr,explainTCPscgrrrcntstrttcture-.(07Marks)a, Wlth a l1eat dlagran-I, explaur I \-r st;Bur!'t Jrr uvrurv'

b. Explain the ca.r-res and costs of congestion' (08 Marks)

rr.r^ ---^..- rl-,, +l^-^o .,,.', 1..,",1.-holze i. TCIP (05 Marks)

a.

b.
c.

6a.
h.

OR

c. Elaborate the three way handsh4ke in TCP'tLlsllilltg lll I vr
;..:,

vrr

4 a. Explain ,ctr.vork assisted congestion control in ATM Available Bit Rati: (AIIR)' (06 Marks)

b. exptain rcliable data transfcr in a channcl with bit cnors' (06 Marks)

c. ln detail cxplain thc selectivc rcpcat protocol for rcliablc data transtbr' (08 Marks)

Module-3
5 a. What is routing'7 With a ncat ciiagrarn. explain tl"rc structure of a router' (10 Marks)

b. Explain tink s?ate routing algorihm. Cor-nputc the shorlest path for the netu'ork shown in
Explain link siate routing algorithm' Cor-nputc the sh

Fig.Q5(b) using link statc algorithm'

OR

Explain tPr'6 packet format in detail'

f,*ff *i,', thc significancc of'spantriug trcc in broadcast routing'

llxplain intcr-As routrng in thc intcrnct rvith BCP protocol'

I of 2

GBG,$$GH]EMB



18CS52

Nlodule-4
a. Explain the threats to network security. (08 Nlarks)

b. explain RSA algorithrn. Using RSA cncry4rt a message ur:9. Assume p:3, q - 11 and

x - 3. Cotnpute y and show encq,ption and decryption" (08 NIarks)

c. Explain encryption in advanccd cncryption standard. (04 Marks)

ot{
a. ln the Diffie Heilman key exchange protocoll prove that thc tr.r'o keys Kr and ,t,lT_;uQff1;

b. With a neat diagratn, discuss thc stcps in DES algorithni. (10 N{arks)

c. Writc a note on fircwalls. (05 Nlarks)c. Writc a note on fircwalls. (05 Nlarks)

Module-5
a. Explain multiuredia streaming using HTTP. (08 Marks)tt. -LxPrarrr lllultlllluur4 Jtrv4urur5 urur5, r I I r I

b. What arc the properties of vidco? (04 Marks)

c. Discuss loss anticipation schemes used by VOIP applications'

10

c. Discuss loss anticipati6n schemes used by VOIP applicatiotls, (08 Marks)

t 
.*u 0R,,*.,,,,1 .r:lr !.

a. Briefly disellsf how DNS redirects a userre(uest to a CDN seryer with an example.
,:.' (09 Marks)...1t

b. nxplain,idffing up a call to a knowr-r:IP'address in SIP. 
,;,,1,, ,;1. (08 Marks)

c. Explain&TP packet header. i.i,'J (04 Marks)

,,'-"...,,.,. 
" * {< * * *,,...-ttt.r....t 

"

-.,.."',.., . - """t::i,.

....:... ll ii
l r"::' rlr'

,..,a....:,r., 'ir,,''i:i...i 
,, :

t'"''ttitt ': l'

- .:: ..:.:..:::ti, ,

tt'r,,t'r.'.'j!:, 
, 

,:,,:,,,,,,r,,'

t 1.t'- 
':":t:tt'

Si:::':sr'
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Max. Marks: 100

.:'illl:j:ti

Fifth Semester B.E. Degree ExaminatiM, June/July 2024

Tirne: 3 hrs.

2 a. What is a rveak entity tlpe'l Explain the role of partial key in design o1'weak entity type.
(05 N{arks)

b. Design an ER diagram for the mail order database considering the lbllowing requirements^

En"rployee takes order fbr parts from customers:

i) Employees arc iclentillcd by r-rnique employee ID, flrst name and last name, address,

gender, zip code"

ii) Custonter is rclentified lry a unique customer ID. first and last nante, acldress, location,

Note: Ansnter ory F|VE full questions, clroosirtg Olf E fuil question.from each module,

Module-l
a. Discr"rss the main characteristics o1'database approach over file-processing approach.

(10 Marks)

b. Explain the operatrons oi'2-Tier and 3-Tier client/server architecture of DBMS. (10 Marks)

OR

zip code.
iii) Part is identified by a uniqr,re part number, part name, price and cluantity.

iv) Order is identified by a unique order number, date o1'receipt, expected ship clate,

actual ship date. Each order contains specified quanlities of.one or more parts.

v) Each customer can place number o1'orders and each order is placed by one custon-Ier

only.
vi) Each en"rployee can take any number of orders but each order belongs to only one

erlploycc.
vii) Each part is placecl by number ol'customers and each customer can place order for

number of parts.

Write assunrptions made. (10 Marks)

c. Dilferentiate specialization and generalization, giving suitable examples. (05 Marks)

Modulc-2
a. List and explain the cliflerent characteristics of relations. (08 Marks)

b. With an eximple, discuss the basic constraints that can be specified r.vhen you create a table

in SQL. (06 Marks)

c. Write queries in relational algebra for the fbllowing: fRefbr tables given in question 5(b)].

i) Retrieve the nrrrnber of dcpendents lbr an erlployee named "Ram"-

ii) Retrieve the narne of managers working in location named "XYZ" who has no fbmale

dependents.
iii) Retrieve the name o1'enrployee who works in the same department as that of "Ra-i".

(06 Marks)

OR
a. Rrielly discuss the dill'erent t),pes of Lrpdate operations on relattonal database. Givc

."a*1rles lbr the violation of refbrential integrity in each o1'the update operation. (10 Marks)

b. With exarnples, explain the steps of ER to relational mapping algorithm. (10 Marks)

Database Management Systems
'jr ir,
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5a.

b.

6a.
b

18CSs3
Module-3

What is a view in SQL? Explain with examples. Discuss the problems that may arise when

one attclnpts to updatc a view" (10 Marks)

Consider the following tables:
Employee (Name, Ssn, Salary, Superssn, Dno)
Departrnent (Dname, Dno, Mgrssn, Mgrstarldate)
Project (Pname, Pno, Plocation. Dno)
Dept_Location (DNum, Dlocation)
Works*on (Essn, Pnum, Hours)
Dependent (Essn. Depnante, Sex)

i) List the nanles olmanagers who have at least one dependent.

ii) For each employee, retrieve the employee's name and name ol'his or her irnn-rediate

supcrv isor.

iii) For each project on which more than two employees work, retrieve the project

number, project name and the number of employees who work on that project.

iv) Retrieve the name of ernployees whose salary is greater than salary of all the

erlployees working in either department 5 or 6. (10 Marks)

OR
What is a cursor in embedded SQL? Explain with examples. (10 Marks)

With exarnples, explain the Ibllowing:
rt Java Script
ii) Style sheets. (10 Marks)

Module-4
List and explaur the infbrmal design guidelines lbr relation schema. (10 Marl<s)

What are prirne and rTon-prir-ne attributes? Iixplain with examples. (04 Marks)

Consider the relation R : {A, B, C, D, E, I", G, H, I, .l} and the set of functional

dependencies (FDs) p: [AB -+ C, BD *+ EF, AD -+ GH, A + l, H -] J].W]rat is the key

of R? Decompose R into ZNF and 3NIr relations. (06 Marks)

7a.
b.

L.

OR
a" Consider the two sets ol'FD's:

F: {A *) I}, B -+ C, AC -+ Di and G : {A + B, B -+ C, A -+ D}. Show that they are

equivalent. (06 Marks)

b. Consider a relation R(A, B, C, D) with FDS : iA + BC, B -+ C, A + B, AB -+ C). F'ind

the minimal cover tbr the set of Fl)s. (06 Marks)

c. Write and explain the algorithm fbr dependency-preserving aud notl additive join
clecomposition into 3NF schemes with suitable exarnple. (08 Marks)

'' 
lriiriirllrr:::

i,, .,,ril:lli r,- ,i,r,,r. ,:, Ntrodule_]LModule-5
Explain serial, non serial and contlict-serializable schedules r,vitha. What is seri

appropriale ex
b. Discuss the

OR
10 a. What is a Deacllock? Consider the lbllol.ving seqllences ol actiorts listed in the order they are

submitted to DtsMS sequence S1 . R1(A), W2(B). R1(B), R3(C), W2(C), W4(B), W3(A).
Draw rvaits tbr graph in case of deadlock situation. (06 Marks)

b. Hxplair"r shadow paging with suitatrle example. (06 Marks)

c. I3rie{ly explain the recovery techniques based on tletbrred update ancl immediate upclate.
(08 Marks)

'Li

, l,,,6ltr

appropriale examples. (10 Marks)

Discuss the tirne stalnp ordering algorithrn lbr concurrency control IIow does strict tirue'

stamp ordering dilfer {iom basic time stamp ordering? (10 Marks)

,<r<r<**<

2 ot-2
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Moclule-l
I a. Dellne the lbllowing terms ruith.*uffi

i) Alphabet ii) String iii) Language iv) Pon'er of alphabet v) ,
b. Design DFSM lbr the lbllorving langLrages:

i) l-: lW in {a, b}. : string W end with abb }

ii; L: .lW in 10, 1 l-: string W being rvith 0l I

rir) Set of'all strings of 0's and 1's 'uvith sr"rbstring 110

Fifth Semester B.E. Degree Examination, June/July 2024

Automata Theory and GomPutabilitY

l,lote: Anstyer any F)YE full qrtestions, choosing ONE futl questit)n from eac'h ntoclule.

Module-2
a" Del'lne Regular [:rxpression. Design RegLrlar Expression for the lbllowing Languages"

i) L = la"'bn " (m + n) is even )

ii) L:{a"'b":m>4,n<3I
iii) Set ol'all strings ol0's ancl l's with atleast one occurrence of 00 (08Marks)

b. Prove that Regular Crammar define exactly Regular Language. (06 Marl<s)

c. Clonvert the tbllowirtg Regular expressions to ecluivalent FSM'

(i)(a+b)-ab(ii)(aa)-+(bb)"(06Marks)
1 of2

Time: 3 hrs.

ii) Clonst

b. Define EqLrivalent and

the fbl

Fig.Q2(a)
ing e -NDFSM.

18CS54

Max. Marks: 100

(08 Marks)

(12 Marks)

(05 Marks)

(05 Marks)
minimum state DFSM for

(10 Marks)
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OR
a. State and prove pumping theorem for Regular Languages.

b. Show that L : 1a"b" : n > 1) is not Regr-rlar Language.
c. Define Regular Grammar. Design Regular Gramrnar for the lbllowing Languages:

18CS54

(08 Marks)
(06 Marks)

(06 Marks)

(10 Marks)
(06 Marks)
(04 Marks)

ii) Set of all strings of a's and b's i,vhich end with ab

Module-3
5 a. Design Contexl Free Grammar lbr the lbllowing languages:

(i) Set o1'allstrings of a's and b's with equal number of each.

(ii) L:1ai Uck.k:i+j,}'

(iv) L:{a''b"c".n) I| (loMarks)
b. Constmct (i) 1e11 Most Derivation (ii) Right Most Derivation (iii) Parse tree for the string

W : aaabab r"rsing the gramrar.
S-+AbB A+aAle B-+aBlbBle (l0Marks)

S+ABala
A-+aablb
B+Aclc (06Marks)

Module-4
a. Define Turing Machine- Design Turing Machtne Ior L: {a"bn : n > 1}
b. Write transition d iagranr of T. M and also lr rite seq uencc o f [D's of T.M for the input string

W: aabb" (14 Marks)
c. Explain the model o{'l-inear Bounded Aulomata r,vith a diagrarl. (06 Marks)

1) L: {Win {a,b}.: I Wl iseven}

OR
6 a. Deflne PDA. Design PDA fbr the lbllowing language.

L: iW in {a, b}* : r"r,,(W): n5(W) )

Numtrer of a's is same as nuntber of b's
Write Transition diagrar-n of PDA ar-id instantaueous description o{'PDA forthe input string
W: abba. (l,l Marks)

b. Define CNF. Convert the lbllowing granrnar to CNF.

Module-5
9 a. Explain Post Correspondence Problern. (07 Marks)

b. Explan l-lalting problem ol'I'uring Machirre. (07 Marks)

c. Explain Decidability and Decidable langr"rages. (06 Marks)

OR
10 a. Irxplain Quantum Computers. (07 Nlarks)

b" Explain Clhurch - I'r-rring "fhesis (06 Marl<s)

c. Explain Cllass P ancl Class NP (07 Marks)
+r"*'*+
2 ol2

8a
b.
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. (06 Marks)
he number of

(06 Marks)
: a program to

(08 Marks)

;hod.
(10 Marks)

for each.
(05 Marks)

words, digits,
(05 Marks)

do you define

T

ciol'El
o

o.
d

d

6)
d
0)

a)

ll
rc
+6l

bo
0)

BJ
o
(n

0)
E

o
6-24
d
(.)

o

oq

do

_:l \

ho

o
o

!)
oo
l0a

J(

bo

0k
o

tr
q
o

o

bo

>'
k

o
b
o

H

>'

,.,ii.,'

6 a. What are the Ray propertieg;,,of a file? Explain in detail file reading/writing process with an
example ofpython pro[iam. (07 Marks)

b. Explain briefly what are the different methods of file operations support in python shutil
module. (07 Marks)

c. Write a python program to create a folder PYTHON and under the hierarchy 3 files filel,
file2 and fl1e3. Write the content in filel as "XXX" and in file 2 as "YYY" and file 3 content
should be by opening and merge of filel and fi1e2. Check out necessary condition before
*tntot,o*' 

r of 2 
(06 Marks)
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Module-4
7 a. Define classes and objects in python. Create a class

(08 Marks)
(05 Marks)
(07 Marks)

b.
c.

8 a. Define Polymorphism.
the number of times each letter

b. Illustrate the concept of pu
c. Define class diagram. Di

diagram with suitable

lymorphism with funptiorf to nnd histogram to count
in a word and in a sehffice. (07 Marks)smawordandmasent(

with pyhon code.
.^^J f^- -^-^..^^^-^.:--^'l ^t

(06 Marks)
need for representing class relationships using class

',, (07 Marks)

t!|rj. rr,illrt ..rr

Module_s "rr]]i ;

employee id and name. Design methods to:
i) SetAge - to assign age to employee. ;':':':'

i1) SetSalary - to assign salary to the employec.
iil) Display - to display all information of the employee.
Illustrate the concept of modifier with python code.
Explain _ _imt_ _ and _ _str_ _ *.tho*,,,,*,t u, example python progam.

'bR

9 .a. do we a file and save it to hard drive using request module? (06 Marks)How

result page.

c. Explain m's web fuive methods fo elements.

(06 Marks)
(08 Marks)

line and creates an N x 100
(08 Marks)

(06Marks)

10 'a.

b.

c.

..
i :': ,"'

command

llirirl*f]r,riliii,

pdf.

contents of each flle, write out the conten

frt '*****
ffitr

s
-&

"s

dWhW

"i-, \i-
ai. )'

d w'J

ds

current workingrdirectory, read in the fuIl
ring the f-r.;!",liqe, to a new CSV file.

,'',.. ' "" (06 Marks)
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(08 Marks)

(05 Marks)

rrrrrrrrr *ii,.q.
Fifth Semester B.E. Degree Examinafid,il,Iunelluly 2024

Unix Programming

Time: 3 hrs. Max. Marks: 100

Note: fulsr {er any FIVE full questiorts, choosing ONE ful.l question from each module.

1a.
b.
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Explain with a neat diagrant a of UNIX OS.

2 a. Briefly explain different types of trt., ,ffirted in UNIX. (05 Marks)

b. lllLrstrate with a diagram, the tyrical LINIX file system. (05 Marks)

c. Explain Absolute and Relative pathnames with an example. (05 Marks)

d. Explain the lollowirlg corlrmands with the help of example :

i) cat i, mv iii) cp iv) wc v) pwd. (05 N{arhs)It rr,, lrlv ttl) uP LY ) YYr-

Module-2Module-2
DefirreFilePermission.Descriu.airilt*o1^'o[c[rarrging[rlepermission.(05Marks)

a. Explain three standard flles with respect to UNIX OS. (06 Marks)

b" With the help ol'an example, explain grep conlnrand with all the options (any five options).
(08 Marks)

c. Write a shell script to : i) display list ot'f iles ii) Process ol'user
iii) Today's date iv) Users of the system v) Contenl of a file. (06 N{arks)

l\{odule-3
a. Explain the Ibllowing API's along with their prototype .

i) Open ii) fbntf iii) lseek" (12 N'larks)

b l)ellne the [ollowrng
i) Reacl lock ii) W'rite lock iiil Mandatory lock iv) Advisory lock. (04 N'Iarks)

c. Explain getrlimit and setrlimit functions rvith prototype. (04 N{arks)

OR
With a neat diagram, explain how a C program is started and terminated in various ways.

Demonstrate the use ol'atexit firnctiou u'ith a sample program. (10 Marks)

With a neat sketch, explain memory layout of a C program. (05 Marks)

Write a CIC++ program to display :

il. Define File Permission. Desclibe difflerent ways of changing file permission. (05 Marks)

b. Which command is used for listing Ille attributes? Explain the significance of each field in
(07 Marks)thc output.

c. Irile current perniissions are r\v* * w * r * *. Write chmod expression required to change

them to relative and absolute mode for fbllowLng.them to relative and absolirte mode for fb[6t{$g
i) r_*r x ii) rwxrwx**x
iii) r*xr*ry:lxl ir),.ru**w* *w ."'..',;,;.,.',.,, (O8Marks)

..,,,1 
"ii]:l': 'tl OR

b.

C.

i) Command line arguments ii) Environmentvariables.
I of 2

(05 Marks)
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la.

b.

C.

8a.

b.

9a.

b.

Module-4
What are Inrerpreter files? Give the <lift'erence between intelpreter files and ttTifl".lT

what are Pipes? what are its limitations'? Explain how pipes are created and used in iPC,

also write a program to send data from parent to child over a pipe. (12 Marks)

What is lnter - Process Commttnication? List any 4 mechanisms of IPC' (02 Marks)

OR
With a neat block diagrarn, explain how FIFO can be used to implement client server

communication model. (08 Marks)

Briefly explain with examPle :

i) message quelle ii) semaphores (08 Marks)

Whut ,'. Sireim pipes? What are tl-re dilferent ways to vierv stream pipes? (04 Marks)

Module-5
what are Signals? Mention drfferent tol-*et of signals. write a program to setup signal

handiers fbr SlClNlT and SIGALRM- (10 Marks)

What are Daenton process? E,xplain the characteristics and coding rules of a daemon

process. (10 Marks)

OR
E,xplain Kill ( ) API and alarm ( ) APl. (06 Marks)

Wriite a C/C++ program to illLrstrate the use of 'Sigaction'' (06 Nlarks)

Explain the sig.setjmp and sig.long.f rnp fllnction with an example. (08 Marks)

10 a.

b

' ., !**?q

^u.roa.i.
. ), .....:..

2 o{2



GE]GS SGIJ]EMT

USN 18AI643

Sixth Semester B.E. Degree Examination, June/July 2024
Web Programming

Time: 3 hrs. lvIax. Marks: 100

l\iote: Anstt'er iln.tt I:lL'E /illl rluestiotts, clroosing OtE.fhll rlttcstiott.front t:qch module.

\'Iorlalc-L
a. What is III'NII-'1 lrrplairi tlrc str.Lrcturc o1'II.l-N{1. clocLrnrcnl tvilh an cranrplc.
b. What are III ML- clcntcnts anci utttttrLttes'l l-.rplain ivilh cxatttplc.
c. What is CSS? I-ist and crpiain bcncfits o1'CSS

oI{
.t Wtth an cxanrpie e xplartt (.SS llor nroiicl.
b Ilorv docs -vor-r stvlc thc tilblc'l i:rplain u'ith itn crantplc
c. [.ist and explain clrl'l'crurt sclcclttr-s arrailalrlc iri (-SS

3 a. Write II'l-\41- codc lbr llrc li llo
l\ I orlrr le-2
table :

({}8 }larhs)
(06 ,\larks)
(06l'larks)

{{)8 }larks)
(06 i\larks)
({}6 }larks)

(l 2 Ilrrl<s)
({}8 }l arks)

(08 i\'l arks)
(061'larks)
(06 IIarl<s)

(0ti )larks)

vou,cls.

(08 I'Iarks)
(04 Marks)

in.javascript.
(()8 llarks)
(01 llarks)
(08 IIarks)

O

O
d
a-
d
E

d

O
d,

*t

.= .t

rbL

al:

c>
a*E'

oO
-!

-F-a

aJd

aE

;=
O:

:rd

dd
!o
)a

>\a
c5D

o, a;
e>^
O
C;U<

;
oz

!

o.
E

b

4a
b

5a.
b

Ilxplain I{csporrsive dcsign vvitlr iis four l<cy conrpol'}cnts.

0l{
Illr"rstrate thc constnrction of-tnulti-colLiltrtt layrtuts u,ith cxatrltle.
Explairr thc role ol'CSS pr"cproccssors in thc wcb cleve lopnrcnt ri'orkllou,.
Write a notc on CSS liantcu'ork

llodu le-3
What is DOI\'1'? Briellv crl-.laitr the dill-crcnt types o{'noclcs.
Write .lavascripl cocle that uscs 1r-rnction firr tirc lirllori,ing ptobielits
(i) lior the string irrpLrL, thc output slroulci bc to clisplal,tlrc 1-losition ol'lcil rxost '

(ii) Irorthe nunteric input, outpLrt should be to displal'lhc t'cversc o1'the ttutlbcr.

c. 13ricfly crplain rvcb scrvcrs rcsponsibility'

ot{
6 a. \\iith sLritable cocle seglrclrts. crplain tu,o approachcs {itr cl,cnl handling

b Writc a PIII) progralrt to -srcct thc rtser bascd on lilrc-
c. What are scrver siilc inclLrclc filcs'l Why arc the\/ importattt in I']lll''l

I of'2

flle 0ll()\\ ill e

SI-,MINAIt
DAY S('lll:i)Lil.l: .IOI'I(

Illr(ilN ]-,NI)

MONt)AY 8 00 AN4 5 00 PN,I IN.l ltoI)LjC I ION I O XN'I1- r,alidity
D-f D and N(i

-l-ttllSDAY l1:00AN1
1 t 00 A\,r
2 00 I'}ivl

2 00 I)iu
t 00 I)\,{
.i 00 Ir\,1

xl,A'l'l-l
XSL'l'ranslormation

WIrl)NtTSDAY 8 00 Alr,l ..:.00 I)\,1 XSL lrornratling obicct
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Moclule-4
7 tt. Whirt lilc tlrc sup.rr globel arra),'s in FllP'l \\/hll tirrrcttt-in is Ltscd to determine if a value was

srtrl r iri rlr.rcr y string'l (10 l\larks)
1,. I:xpilin thr rlii'f.l..rri (ii'ror lrantllinu, nrcthocis ir itlr sLr itablc coilc scgnlcnt. (10 Marks)

()R
ll a \\1ritc a PflP progrtrnr to crcatc a class cnrploycr *'ith thc fblloli,ing specitrcations:

[)ata rncrlbers . uarre. icl, pavrncnt
\,'1e nrber llnctions rcacl ancl vvritc
tlse the atrove specit'ication to reaclancl print tire inlorrnaturn o1'10 stLrdents. (08Marks)

b lloiv cio you rcacl ancl u,rite a lllc on the scrler-liorn l)llP'l (08Marks)
c \\1r'itc a note ol'i ciasscs and ob jccts in l'HI' (04 Marks)

i\Ioclu le :1
l:rpllrn r-lr1'lcrcnt t1'pcs ol'cachinu nced lo iurprovc tltc pcrlbrrnanee ol'\\'eb applications.

(08 Marks)
(08 Marks)
(04 Marks)

9a.
b
C.

\\i hlt arc Il't'l l) etioliics'1 Ilori'tlo you hancllc thern in Irlll)'/
lloti.' clo voLl ntatiagc state in I)lll)',)

()It
10 il. \\1lrat is A.IAX'l l,rsing an Xlvli- cliaqlirnr erplliin lrori'lhe svnchronolrs request is handled.

(08 N'Iarks)
L) I rpllriir .lS pscrrtlti cllissrs u'itir cranrplc. (08 Ntarks)

'r l:rplrin r()lrvcr-triie u.l:\S()N strillg lo.l.\,!()N oblcct rn.lai,aScril)t with suitable code
Sirllllldlll (0.1 i\{arks)

**>F+*
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(08 IIarks)
(f)lt IIarks)

rclatcrl to clouci.
(0"1 llarks)

( l0 )larks)
(10 ]larks)

tcchnicluc lbr paraliel
(10 llarks)

I arrrl proci:ggs5 ',r'ith a

(10 llarks)

u

-
o.
d
E

d

o

O

,; ,,
)L"
d.-

a^'

-o
rn ll

:N
d<f
:bn
Eo

3>
uU:

.u
=l
ilc

'dd

A^
ro
).:

,, 'i
=P
ko
ar

ot, o<:o
D_

=d$oE.
9!

(r<
- a'.1

.J

a)

Z
(n
!c
c.

sixth Semester B.E. Degree Examination, June/July 2024

Gloud Gomputing and lts Applications
'I'inre: 3 hrs. N'lirx. \4arks: 100

lynte: tlnsryer (rtt.l: FII/E.fittt rlurtsliotrs, cltoositrg O,\rE./illl qucstion.fi'ont efi(1, tvodttle.

N'Iocltrlc-1

1 a. lrrplain bird's vict, of'cloucl cotrtputitru u'itll a ncat diagrartl. (06 ]larks)

h. Whal arc tftc charactcristics aucl bcucllts o1'cioucl computittg trith rcspcct to CS(' and CSI''.'
(i)6 Martis)

c. NIcntio6 irnil cx;l1ain cloud sr:rrrccs providcr.l bv -l il ifllrcttl. cottlptttirlu lllatlilrtrls ({)B }{arks)

oR
Z a. Wrth ncat clia{:raut. cxltlain tax()ir()n.)y ol'r'irtualizitliott tccirtriclrtcs. (0ft }{ar"ks)

tr. \\iith ncat rliiigram. erpiain Nl ic:rersofl Il,vpcr V archiLcclLtt'c. (08 llarks)

c. trxplairr ilfilstructillc ut.lltagcutcrrt in cloucl crotttitt-ttittg u'ith t'cspcct to II1'pcr V. (()'1 llarks)

N'todulc--2

a. ltxplain IaaS re lbrcucc intltlclrctttatiotl u rtfi a tlcat rliagratll.

b. Erplarn options to intltlcnrcnl privatc ciot-tcls u,ilh a llcat (liasralll.

c. \\,'1o arc thc cancliclalc rcctot's lirl cort.rntrtt.trt.v ciouil? Explain iltlu'tltcy arc

4a.
b

oIl
Explain Ancka Framc',r'tlt'k ovcrvicu'u'tth a ltcat cliagt'i'rlll'

Erplain logtcal organizatiou t,f'.Ancka cloLrcls rr itfi a ncat diagl'atrl.

Nlodule-3
What is clontain dccotnpositiorl') lt:xplaitl dotnaitr dccotrtlltlsitiort5a.

6a.

b.

C.

con.rputatiorr by taking mal.rix ntultiplicatigll cxal11plc irr clctarl.

b. What is c:ontcxt stvrtchinq"' F.xplaill tltc re lationship betucen thrcacl

neat rliagrattr.

ott
I-isl the fiarncrvurks sscrl Io sulrllot't the erccLtlion it1'tasl<-bascrl allplicatiorls i:xplarn in

dctail. (0ti }Iarks)

With a neat diagrar1 crplsil nbstract nroclcl ol'a riorl<flou'svstclrr. Bliclly cxplain

tcchr-rologies usecl lbr clcsigning rvorkf)ow basccl applicaliot.ts. (08 I'larks)

Mcntion ancl cxplain clili:rcnt typcs of paranrctcrs spccificci irl parametcr s\\'cep

applications. (t)'l Nlarks)

b.

l/Lrdulc-rl
What is thc rolc ol-Ilate gricl rrl lhc cvolutiotr ol data

rc lclct'rcc sccrr ario.
Irxplain hor.r' be lor.r' lnctrtiotrcri 1llr-r

i) Lustrc ii) (;PFS (iii) (i];S

intcnsjvc contltr"ttitrg'? l;xplain rvith
(10 IIarks)

svs [c ltts pro vi clc pcl'lir t'ttll.t tlc'c anr] str.l rasc fbr c lo ttds :

(ir ) Scctor (v) ,'\tlazoll 53 (10}Iarkt)

I ol'2

GBC$ $GHEIME



8a.
b.

U.

(.}tt

\\'ith nclt diagr rrrn c.rpluiri (iooglc \'lapltctlLLcc ii) ii'ilsInicltti's t)r'crr icu'.

[)usclibc thc altcr-nlrtiles to \1 alll{eciLtcc.

\\'ith rreat cliagram cxplaru Anclia N1 apRctlirce iull'astt'ttctitre .

N{oclulc-5
I)iscLrss se n,iccs uscd tcl clcvcltil-r applications in Coogic AppEngirtc.
l-.xplairr Nlrurosoli Azure platlbnr architectLtrc ll'ith a ttcat citagratn.

18CS643

(08 Marks)
(06 Marks)
(06 Marks)

(10 Marks)
(10 Marks)

Irrrairzi clata firl cal')ccr cliagnostics using
(10 Marks)
(10 Marks)

9 a.

b.

10 a.

b

OR
Dcscribc how cloud con"rputing can be used to
gcnc expression with a ncat diagram.
Describc EyeOS architeclure with neat diagrarr.

2 ctl2
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(10 llarks)

(10 )larl<s)
1 -5 minr-rtcs ilnd flncl

than 3 rninutes in the

io
o-
O-

E
3,
d

-O
OL

,ta

.J=

*t
dl ,

drt
t, :

!E

cr3
a-u2

t-

t,o

il)cdd
-a>7

tn
=9

!o

Ea

c .i

cO'
-b0.- d
4=

=>
a\

'-ol
D

z

o

system 'l'he interarrii,'al t d scrvicc ti belolres an(l scrvlcc tcs arc iis gl\/en

Interarrival -fime
5 1 I I 5

1
-l 5 3 3

Service 'l inre 4 I J 3 2 1 3 I 4
(l0 llarks)

N{ od u le-2
3 a. [':xplain any tu,o discrete an.l h\'o colllir.ruous probabilitv tlistribLrtions u'ith diagrams.

(10 NIrrks)
(10 llarks)

OR
4 a. A production proccss lranLl lilcturcs colnprlter chips orr lirc averasc at 2tli; Iro11 con{brming.

Iivcry r-lar. a ranclonr sanrl)lc rrf sizc 50 is laken liortt tirc proccss ll'' thc sarnplc conlarns

lurorc than lu,o rlon eonlirrnrirrll clrips. lhc lrroccss rvith l',c sl.oppcd. ('onr1-.ri1113 the probabilitl,
tirat thr: lll-occss rs sloppccl irv tlrc satrplinu srrhclne (10l'larks)

b IllLrstratc llith an cxanrplc lhc c1rrr,'Lrine n()ti]ti()n o1'l(cncllrll. f{)5 }larks)
c. Given the nLrrllrcr ol'cuslonrcrs jn the sysleu'] at tilric. t. htrr,^,,do yotr c()ntpLitc thc lonu-run

tirle-averagc ni:nrbcr o['cLtslotrtct-s in systcnt attc] in (ltlcLtc'.)

purrbers to halcllc tlls l-rloblcpt 55. lli () i. 0l :5 li(,. - l. l!). ()1. .lE

OR
a. Statc thc aclvanlages ancl clisaclr llntagcs o1'sirtrulatiott.
b SirrrLrlutc.r sirrgl.'scr \er (llrr'irilrs )yllcnr rrrittg cvettl .elrctlrrlrrtg li,r

r) Server utilization ii) NLrrnber of'custonrcrs \\/ho spenci r'r'rorc l

b. i-'.xplain the characterist jcs o['a clucltittg svstcln

GLIJG$ $GHEru f

Sirth Scnlcstcr I]" F,. Ilcgree I,lxa rni natiort^ .l rr n c/.[ uIr' 2{}24

$ysterm M+dellimg amd Sfr raiarlatiox'a

Time: 3 lus. j\{ax. Marks: 100

Note: Arrstrer (utt' F Il"l: "/irll rluestiorts, cltoosirtg OltiE.{hll qttestitttr.fi'orrt esr:h rnodule"

N'Iodulc- I
a" \\lhat rs Sinir"rlation'l State thc sitLrritions r,r,hen sirlLrlation is cou-sicicrcc'l as an rppropt'iatc

lool (10 IIarks)
b. Dr. Raurcsh is a clentisl u'ho scheclrrlcs ali paticnls ht l0 nrinLrlcs ll)i)()i11tu1clrts. Sotnc oIthcr

paticnts tiil<e rrorc or less tlran l0 nrirtutcs dcperrrling urt the tvpe o1'rlcntal uork to ire cionc.
'['he fbllori,rng tablc shou,s lhc r,'arious categurics o['u,orli. tlrcir protral;ilitics, tirnc actuaily'
ncecleil t letc thc u,orl< anci the lbes clrarseci fbr cach0 c()llt iI C cactt

Clatcgorr, Irrllrng C'rou'ning C lcaning Irxt racl iou C ltr:ckrr;r

Time tal<cn (in rnirr) 45 (r0 t5 4-5 15

Probability of catc.rorv 0 .15 0 l-s 0 r0 025 0. 15

Fees charged I{s.200 I{s 20(l l{s 60 Rs I00 I{s. 5 0

Sirlulate thc dcntist's clinrc 1or"10 patients itnd detcltnrne the avcragc ivaiting timc lor
paticnts. total icllc trnrc lirr thc rLrclor ancl thc tolal ltrrs collcctecl Assunr: tlrat paticnts ulrivc
at the crlrnic at exactlr'lheil sclrciiirlcd tinrc starting a1 8 ()0arn. Usc thc {ir11o*'int ranrlott-t

I tl[ '

(()5 l\I a rks)
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\{odule-3
Statc tirc iptportunt c9r-tsidcratiorrs u'ltilc cicvcktping rattclot.n tlltt'tlbcr generators. (05 Marks)

LJse thc nrixecl copgrtrentiul ntcthoc'l to gctterate a scclttcllce ol'{ive, trvo digit random

iutcgers bcrtlrccrr 0 and 2r1 ancl corrcsponrling t'andotrl nLttllbers with xe: 13, a: i9 and

54"
tr'

C.

6a"

b,

I Ct-

b

8a.

b.

c:35. (05 Marks)

lriaboratc rhe trcc{ lirr uelerating ranclonr r,rtt-iates. (jiven probability mass tunclion (pml) of
ra1;9ru variatcs trnrl lr sct oj'rrpitirrpt ranclotn Itrttttbcrs clvcr the rangc (0, l), describe the

irr'occss o l' gertct'at i ttg t'atrdo t't-t var rablc s.

oR
l)cvclop a ranclont vat-iatc gettcl'ator 1br a t'aildotn vanable X with the pdf.

lrt' fi,t z-r'{}
i(\) I

l" ' lirr t)-r -;r
l rplain acceptancc-rc jcction lechnitiLte usiltg Poisson clistri[-rLrtitrrl

(10 Marks)

(101'Iarks)

(10 Marks)

(05 NIarks)

data? What is the
(05 Marks)

analysis with
(10 Marks)

N'l od u Ic-"1

l.isr rlrer llr()pcrtic:j of ittty ciuhl 1tt'ghailillrr tirstribrrtigrrs. (08 I'larks)

l5e gtrnibci o1'r,uitiuics rrrriring at rtn intu15t'ctioit irt rt -5-trinLttc pcrioci bctrvcen 8:00am and

E.0-5unr rvas nrorrilitrcti lor ltr,c ivorkciit),S rt\r'i I ltl-ttecl< llerioti and the results are show'n in

rltc tablc..,\lter anall,sis, it ap1;ciirccl rg lglip* a potsson cirstlrbLrtion. 1)sing Chi-square test,

shellii rvc iicccpt ril tc.ject thc hypothcsrs that it is l'oisson-riistributed at a level of
signilir-ance u:0.05

Arrivals,rlre riod 0 I 2 l 4 5 6 1

iircrlircnc y l6 l9 2l t7 It) 8 6 J
(12 Marks)

()tt
\\,Iat arc lhe sirggcstcul cstintalols lirr l'oissol]. expot'lclltial, (ranrrr-ra. Nortnal and Lognormal

ti rs t r ib ut io ns'J

\\/hal irre the slcps rrt the tlevcloptnctlt ol'a usclirl lloclel of inpltt

irnpoltlrrce ol' irisltte.ratns in this process'l

lligltlight rhe lbaturcs 01'the t},Ires ol'srrnLrlations u,ith rcspect to oLttput

exarnpics lbr each.

9a

b

Nlotlu lt'-5
l-.rltlirin ntotlcl bLrilding. verif iclition ancl valrtiatiott tt'itlt rcspcct to sinrtllation models.

(10 NIarks)

\\,'lrit.lr iric tlrc ril,!:i.i:iirt'rs ol'lteriirrrniutcLr ()i';t sirttitllrtctl sYstcit't') Iltlli' do you cstimate thetn'.)
(10 N{arks)

()I,t

i:rltlain ur.r1,,tlrro ogtl)t.lt analysis lrcthocls lbr stcaciv state sit-tlttlations. (10 Marks)

l:rplairr thc Naylor and Iringer 3-step approach lo aicl tn lhe validatioll process. (l0Nlarks)
l0 a

ir

2 o1'2


